EXAM 2A*

PRE ALGEBRA

SHOW ALL WORK on this test or on separate! Circle final answers. CALCULATORS—YES!!

In 1 - 8, combine like terms and simplify completely.

1.

4.

7.

33X+ 7x—21x

18x -2+ 11x + 10

3(2x+5) —x -7

In 9 — 20, solve for x:

9.

12.

15.

18.

Xx+7=20

X —-—X=42

4x -5=3x+17

7(7x + 5) = 6(8x + 3)

2.

10.

13.

16.

19.

4x —13x +6Xx -5

Mult: 4(3y - 8)

7(5y +3) -9y -13

X+6=-12

—5x+4x=16+7

4x -5 =2x+ 17

2(5% + 4) = 3(2x + 8)
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3. X —-12x+ 3

6. Mult: —8(2x-7)

14. 12x—7-11x =6+ (-3)

17. 3(x+1)=6

20. 2(5—4x) = 4(x — 4) — 10
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In 21 — 23, write an equation and solve.

21. Seven less than twice an unknown number is equal to 17. Find the number.

22. Seven less than twice an unknown number is equal to 17 more than the number. Find the
number.

23.  Two numbers are such that the larger number is four more than twice the smaller. The sum of
the number is 100. Find the numbers.

24. Three numbers are such that the second number is three times the first number, and the third
number is 2 more than the first number. The sum of the numbers is 37. Find the numbers.

25. Three numbers are such that the second number is three times the first number, and the third
number is 2 more than the second number. The sum of the numbers is 37. Find the numbers.
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In 26 — 27, express the mixed number as an improper fraction.
26. 2g 217. —31
5 8

In 28 — 29, express the improper fraction as a mixed number.
28. n 29. =2t
8 11

In 30 — 32, reduce the fractions to lowest terms.
30 18 15 18

— 31. -—— 32. —
45 95 522

In 33 — 38, perform the indicated operations and reduce fractions to lowest terms.

a3, 4.3 3, L3 5. [L)f12
5 5 2x  2x 65
36, - 37, X2 38, -2 [_2
13 26 6 7 5 (3

In 39 — 40, simplify the complex fractions.

3 7
5 12

39. _— 40. —==
I 3
8 4x
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In 41 — 50, solve the equations.

41.

43.

45.

47.

49,

X__6
3

—Ex=-12

w | x
+
N |-
Il
ol
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42.

44,

46.

48.

50.

—§x=30
5

—X—-4=2

1 2

—X==X=2

3 5
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9. = : = -
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CHlE = =T

4, 12%-7=IIX=4+(E3) IS ¢x §= 3%X+I7 ; |

i 3 —3x P e 4x-Sz2owH7 (2. 3(x+) =6
Rt? XoS ='-*'7 "';-:_s;—-‘;" 3x.+~3.-.-_§

18, 7(x+8) = (X +3)
44>c+35‘ 48&+13

><-I-?.S""

-*35“ ""3

27 x@r‘x = omll mo
2X+ 4 = MO .
At+-2X+4= 19D
=/
3x_1-§: >

S

= 96
5%

X = 32 orm
Kra-cs5 4
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/M. .a(sx%) 3(2X +8’)

I +E = (X+24 20 2(5-4%) = 4&-—4}—!0
—6xX  —eX

4x+8 =
— &

4 2

24
=

2R = 23

-
——

B-8X = 4X=)L= 1O
10-8X =aX =24

22. GF =P »o,

2%=7= 174+ X%
-t s

ch; —> 100 Tl

W=7 -
PG A o

Ch= d5—7 = l7+'7-4""

4| = 4

3x=2

MO .
W ::-3%*
A3+ Xt = 3 7

SX+2 =37
-2 =3

5% -—35‘.'

x L7\ 1<
3x = 2/ A/M
vtz A9 3% 0

CAe.ok o 37 TEM

—4X —4X__D
10 =12% = =26
—16 =lo—
— 12X =~ 76

=2 =13

25 % = 12 o
3X ’“2”%&@ .

X+3xX+3X¥+2= 37
7>c+z. ?Z
7X = 35

X5 f*fmo
3X = /5

3x+2 Al7 ?“"
Cheek—> 37 T’M









